AP Calculus
6.3 Part 2

6.3 Volumes of Revolution Part 2

Washer Method:

The washer method is an extension of the disc method. Use the washer method when your 2-

dimensional graph is not bounded by the axis of rotation, resulting in a 3-dimensional object with a
(hole).

Solid of revolulion
with hole
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If a region is revolved about a horizontal axis where R(x) is the outer radius and r(x) is the inner radius
then, ‘D
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1. Find the volume of the solid formed by revolving the region bounded by the graphs of y = Vx and

R(x)=Ix vo)=xt
3= § (B - 03

0

y = x? about the x-axis.
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2. Find the volume of the solid formed by revolving the region bounded by the graph of y = x? and the
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line y = 4 about the x-axis.

3. Find the volume of the solid formed by revolving the region bounded by the graphs of y = 4 — x?2
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and the line y = 2 — x about the x-axis.
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If we revolve a reglo about a vertical axis the volume formula becomes:

w: I g([ y\] [V(\D] >0lj

the linesx = 2 and y = 0 about the y-axis.
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